
Control
+DTX

0 V/s

A

Control DTX
0.0

0.5

1.0

1.5

2.0

2.5

AP
 h

al
f-w

id
th

 (m
s)

Control DTX
0

100

200

300

400

M
ax

. r
ep

ol
. r

at
e 

(V
/s

)

p = 0.24 p = 0.96

C

Control
+XE991

p = 0.10

Control XE991
0.0

0.5

1.0

1.5

2.0

2.5
AP

 h
al

f-w
id

th
 (m

s)

Control XE991
0

100

200

300

400

M
ax

. r
ep

ol
. r

at
e 

(V
/s

)

p = 0.93

E

Control Ibx
0.0

0.5

1.0

1.5

2.0

2.5

AP
 h

al
f-w

id
th

 (m
s)

Control Ibx
0

100

200

300

400

M
ax

. r
ep

ol
. r

at
e 

(V
/s

)p = 0.40 p = 0.81

Control
+Ibx

Control DTX
0.0

0.5

1.0

1.5

2.0

2.5

AP
 h

al
f-w

id
th

 (m
s)

Control DTX
0

100

200

300

400

M
ax

. r
ep

ol
. r

at
e 

(V
/s

)

B

Control XE991
0.0

0.5

1.0

1.5

2.0

2.5

AP
 h

al
f-w

id
th

 (m
s)

RA AId

RA AId

Control XE991
0

100

200

300

400

M
ax

. r
ep

ol
. r

at
e 

(V
/s

)

Control
+DTX

Control
+XE991

D

F

Control
+Ibx

RA AId

Control Ibx
0.0

0.5

1.0

1.5

2.0

2.5

AP
 h

al
f-w

id
th

 (m
s)

Control Ibx
0

100

200

300

400

M
ax

. r
ep

o.
 ra

te
 (V

/s
)

p = 0.72 p = 0.08

p = 0.14 p = 0.22

p = 0.44 p = 0.65

5 ms20
 m

V

200 V/s

20 mV


